EX: arithmatic operation
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Each sub operation is to be performed in a segment within a pipeline. Each segment has one or two registers and a combinational circuit
[bookmark: _GoBack]The sub operations in each segment of the  pipeline are as follows:
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A;*B; + C fori=1,2,8,... i, ¢
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Figure Example of pipeline processing.
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R1<«A;, R2<B; Input A; and B;
R3<R1%R2, R4<«C; Multiply and input C;
R5«<R3 + R4 Add C; to product
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" Operations In Each Pipeline Stage

Clock | Segment 1 Segment 2 Segment 3
Pulse

Number | R1__R2 R3 R4 RS
1 AT Bi
2 rol ol AT Bl
3 A3 B3 | A2*B2 C2 | A1*B1+Ct
4 A4 B4 | A3*B3 C3 | A2*B2+C2
5 A5 B5 | A4*B4 C4 | A3*B3+C3
6 A6 B6 | A5*B5 C5 | A4*B4+cC4
7 A7 B7 | A6*B6 C6 | A5*B5+C5
8 AT*BT C7 | A6*B6+C6
9 A7 *B7 +C7





